INSTALLATION INSTRUCTIONS

Congratulations - your new Air Helper Springs are
quality products capable of improving the handling and
comfort of your vehicle. As with al products, proper
installationisthekey to obtaining all of the benefitsyour
kit iscapable of delivering. Pleasetake afew minutesto
read through the instructionsto identify the components
and learn where and how they are used. Itisagoodidea
to start by comparing the partsin your kit with the parts
list below.

The heart of the air spring kit is, of course, the air
helper springs. Remember that the air helper springs
must flex and expand during operation, so be sure that
thereisenough clearanceto do sowithout rubbing against
any other part of the vehicle.

Besuretotakeall applicablesafety precautionsduring
the installation of the kit. Theinstructionslisted in this
brochureandtheillustrationsall show theleft, or driver’s
side of the vehicle. To install the right side assembly
simply follow the same procedures.

2445

WARNING:

Do not inflatethisassembly whenitisunrestricted. The
assembly must be restricted by the suspension or other
adequate structure. Do not inflate beyond 100 P.S.I.
Improper use or over inflation may cause property
damage or severe personal injury.

Thiskitincludesinflationvalvesandair linesfor each
air spring. Thiswill allow youto compensatefor unbal anced
loads. If you would rather have a single inflation valve
systemto provideequal pressureto both air springs, your
dealer cansupply theoptiona "T" fitting.

IMPORTANT!

For your safety and to prevent possible damage to
your vehicle, do not exceed the maximum load
recommended by the vehicle manufacturer (GVWR).
Although your Air Helper Springs are rated at a
maximum inflation pressure of 100 psi, this pressure
may allow you to carry too great a load on some
vehicles. It is best to have your vehicle weighed once
it is completely loaded and compare that weight to the
maximum allowed. Check your vehicle owner’ s manual
or data plate on driver side door for maximum loads
listed for your vehicle.

When inflating your Air Helper Springs, add air
pressure in small quantities, checking pressure
frequently during inflation. The air spring requires
much less air volume than a tire and, therefore,
inflates much quicker.

PARTS LIST

AIR SPRING 6410 2 5/8"-18 JAM NUT 2
UPPER BRACKET 5542 2 5/8" FLAT WASHER 2
LOWER BRACKET 5543 2 5/16" FLAT WASHER 4
EXTENSION BRACKET 5584 1 1/4" LOCK WASHER 2
1/2" BRACKET STRAP 5086 4 1/4" FLAT WASHER 4
18 ft. TUBING 1 ELBOWFITTING 3128 2
3/8"-16 x 3-1/2" CARRIAGE BOLT 8 INFLATION VALVE 3032 2
1/4"-20 x 1" HEX BOLT 2 NYLON TIES 6
3/8"-16 x 3/4" FLANGE BOLT 2 THERMAL SLEEVE 2
3/8"-16 FLANGE LOCK NUT 8 CAUTION TAG 2

2

1/4"-20 FLANGE NUT

21-8370

11-08

NAD-35705-1



2445

NOTE: Both illustrations are of the
left, or driver’s side of the vehicle.
Reverse any orientations when
assembling and installing the right,
or passenger’s side of the vehicle.

FIGURE "A"
1/4"-20 FLANGE NUT
1/4” LOCK WASHER
1/4” FLAT WASHER
KIT ASSEMBLY

UPPER
BRACKET

AIR SPRING

/

LOWER
BRACKET

3/8"-16 X 3/4” __ 7
FLANGED HEX BOLT

KIT TO FRAME ASSEMBLY

ELBOW
FITTING
=)

FUEL PUMP CONTROL

FACTORY INSTALLED (DRIVER’S SIDE ONLY)

FLANGE NUT

EXTENSION
BRACKET

1/47-20X1” HEX BOLT
1/4” LOCK WASHER
1/4" FLAT WASI-‘-IER

5/8”-18

/ NYLON JAM NU
5/8” FLAT
S

y

EXISTING
FRAME RIVETS

AIR SPRING
ASSEMBLY

= (l((m((((\\\\\(u

\ 3/8” -16 x 3-1/2”

CARRIAGE BOLT

3/8” -16

@ STRAP

FLANGED
3/8" -16
FLANGED HEX NUT
HEX NUT 2, <
’96\62 )



STEP 1 - PREPARE THE VEHICLE

JOUNCE___ Placethevehicleonasolidlevel surface. Takenecessary safety
BUMPER l precationssuch asusingwheel chockswhenworking under your
vehicle. Removethejouncebumpersby cuttingthem off ascloseto
TS e T CUTLINE thebracket aspossibleasshownin Figure" B" . Next, removethe
two nutsonthefuel pump control. NOTE: Somein-bedhitches
haveholesinthesideplateto accept thefuel pumpcontrol. Attach
theextensionbrackettothefuel pumpcontrol usingthefactory flange
nuts. Thefuel pump control will bereinstalled at theend of Step 3.
See Figure" A".

STEP 2 - PREASSEMBLE THE KIT

Select anupper bracket and anair springfromyour kit. Place
thebracket ontop of theair spring sothealignment pininsertsinto
thesmall middlehole, andthelargecombinationstudinsertsintothe
largemiddlehole. Attachthelower bracket totheair springusingthe
3/8"-16x 3/4" hex bolt. Tightenthebolt making surethebracketis
inthecorrect position(seeFigure*A”).

AIR
SPRINGS

Unriaron Il STEP 3 - INSTALL THE PREASSEMBLY TO THE VEHICLE

VALVES
Placethepreassembly onthel eaf stack of thevehicleasshown

in Figure" A" . The emergency brake line bracket may need to
be bent dlightly for proper clearance. Alignthetworivetsonthe
bottom of theframewiththelargeholesontheoutsideof theupper
bracket. I nsert thelargecombination studintotheexistingholeonthe
bottom of theframe. Install the5/8" washer andthe’5/8"-18 nylock
jamnut ontothecombinationstud andtighten. SeeFigure” A" .
Install theelbow fittingintotheair spring. Tightentheair fittinghand
tight, then 3/4 of aturnwithawrench. DONOT OVER
TIGHTEN. If thenylonringiscrushed, itwill causeanairleak. (see
VAR Figure“A”). Attachthelower bracket totheleaf stack usingthe

@ 3-1/2" carriagebolts, 3/8" lock nuts, and bracket strapsasshownin

-/ @ Figure" A" . Replacethefuel pump control ontheframeusingthe

EALVE cap 1/4"-20x 1" hex bolt, |ock washer, andfl at washer throughthe
extensionbracket andtheframe. Install the1/4"-20flangenuts, lock
washers, andflat washersontothe1/4" hex bolt ontheoutsideof
theframe. SeeFigure" A".

Figure"C"

fAIF( LINE

FLAT WASHER
\% [

PUSH-TO-GONNECT \@
INFLATION VALVE

BODY OF
VEHICLE

Figure"D"

Follow thesameproceduresasoutlinedinsteps1through 3for installingtheright sideof thevehicle.
STEP 4 - INSTALL THE AIR LINE

Uncoil theair tubing and cut it into two equal lengths. DONOT FOLD ORKINK THE TUBING.
Theair linetubing should not bebent or curved sharply asit may bucklewith age. Makethecut assquareas
possible. Insert oneend of thetubingintotheelbow fittinginstalledinthetop of theair hel per spring.

Select alocation on the vehicle for the air inflation valves. The locations can be on the bumper or the
body of the vehicle but be sure that it isin a protected location so the valve will not be damaged yet till be
accessible for the air chuck (see Figure" C"). Drill a5/16" hole or use an existing hole and install the air inflation
valve using two 5/16" stainless steel flat washers per valve as supports (see Figure " D" ). Run the tubing from
the air spring to the inflation valve, routing it to avoid direct heat from the muffler or tailpipe, and away from
sharp edges. Tubing protectors have been provided for these conditions. Push the end of the air line tubing into
theinflation valve asillustrated (see Figure" D" ). Secure the tubing in place with the nylon ties provided.



STEPS5 - CHECK THE AIR SYSTEM

Oncetheinflationvalvesareinstalled, inflatetheair springsand check thefittingsfor air leakswithan
applied solution of soapandwater. If aleak isdetected at atubing connectionthen check tomakesurethat the
tubeiscut assquareaspossibleandthat itispushed completely intothefitting. Thetubingcaneasily be
removedfromthefittingsby pushingthecollar towardsthebody of thefittingandthen pullingout thetube. If a
leak isdetected wherethefitting screwsintothespring, screw theelbow intothespringuntil theleak stops.
Reinflatetheair hel per springsand check for leaksasnoted above. Further informationontrouble-shooting
canbefoundintheGeneral Operation I nstructionbook includedwiththiskit.

Thisnow completestheinstallation. Beforeproceeding, check onceagaintobesureyou haveproper
clearance around the bellows. With aload on your vehicle and the helper air springsinflated, you must
haveat least 1/2" clearancearoundthebellows. Asageneral rule, theRide-Rite Air Helper Springswill
support approximately 32 Ibs. of loadfor each p.s.i. of inflation pressure(per pair). For example, 50P.S. 1. of
inflation pressurewill support aload of 16001bs. per pair of air hel per springs. FORBEST RIDE useonly
enoughair pressureintheair hel per springstolevel thevehiclewhenviewedfromtheside(fronttorear). This
amountwill vary depending ontheload, | ocation of |oad, condition of existing suspensionand personal prefer-
ence.

NOTE: Toomuchair pressureinthehel per springswill resultin stiffer ride, whiletoolittleair pressurewill
allowtheair springto bottom out over rough conditions. Toolittleair pressurewill a sonot providetheim-
provement in handling that ispossible. TOPREVENT POSSIBLE DAMAGE MAINTAIN AMINIMUM
OF 5P.SI.IN THE RIDE-RITE AIR SPRINGS AT ALL TIMES.

NoTE:
MIN PRESSURE 5 PSI

MAX PRESSURE (LOADED) 100 PSI

AIR HELPER SPRINGS

www.riderite.com



